Unit 7 Problem Set 3

1.  Solid Carbon plus oxygen gas produces gaseous carbon dioxide.

a.  Write the balanced equation for this reaction.

b.  The burning of 18.0 grams of carbon produces 55.0 grams of carbon dioxide experimentally in the lab.  Calculate the % yield of this reaction.

2.  The electrolytic decomposition of aqueous hydrochloric acid produces gaseous hydrogen and gaseous chlorine.

a.  Write the balanced equation for this reaction.

b.  Calculate the percent yield if 25.8 grams of hydrochloric acid decomposed experimentally to give 13.6 grams of chlorine gas.

